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Warksheets Educat

Name: Date:

Addition (Word Problems)

Q1. There were 4 cars parked outside the restaurant. 2 more cars came there
and parked. How many cars are now there outside restaurant?

Solution:

Q2. Timmy bought 4 toffees for his sister and 4 for his brother. How many
toffees did he buy in all?

Solution:

Q3. Rocky has 5 white horses and 2 black horses. How many horses he has in
all?

Solution:

Q4. Kunal has 3 toy cars and his brother has 4 toy cars. How many toy cars do
both of them have?

Solution:

Visit https://worksheetswithfun.com/ for free printable worksheets.
Visit https://educationwithfun.com/ for study material.
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Addition (Word Problems)

Q1. There were 4 cars parked outside the restaurant. 2 more cars came there
and parked. How many cars are now there outside restaurant?

Solution:
4 1111
+ 2 | |
6

Q2. Timmy bought 4 toffees for his sister and 4 for his brother. How many
toffees did he buy in all?

Solution:

4 111
+ 4 111
8

Q3. Rocky has 5 white horses and 2 black horses. How many horses he has in
all?

Solution:
5 [
+ 2 |
7

Q4. Kunal has 3 toy cars and his brother has 4 toy cars. How many toy cars do
both of them have?

Solution:
3 11
+ 4 1111
7
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Visit https://educationwithfun.com/ for study material.




